SOUTH HURON POLICE SERVICES BOARD REPORT





JANUARY

2021

A/Inspector Adam ILLMAN – Detachment Commander

South Huron January 2021

Calls for Service		
2020: 176	2019: 283	2018: 290

Public Complaints

Policy	Nil
Service	Nil
Conduct	Nil

Secondary Employment

N/A

DAR - Community Safety / Mobilization Hours

Number of Cruiser Patrol Hours:	201.25			
Number of Foot Patrol Hours:	2.00			
Number of School Patrol Hours:	Nil			
Number of Specialized Patrol Hours: Snowmobile	3.75			
Number of Focused Patrol Hours:	12.00			
Number of Community Mobilization Hours:	Nil			
Number of RIDE Program Hours:	6.00			
Number of Auxiliary Hours:	NA – COVID19			

South Huron January 2021

Detachment Initiatives						
Number of Targeted Media Releases:	 2 media releases were placed on the Huron County Media Portal relating to South Huron B+E at house under renovations 382 Main St S Exeter. Tools Stolen 28 year old male breaching curfew – Condition of release. Arrested. Media releases are put out to in an attempt to educate, create awareness, and emphasize the need for the public's help in solving crimes.					
Crime and Traffic Campaigns/Initiatives:	There were 13 collisions in South Huron in January. 12 involved property damage. The remaining 1 was a minor personal injury collision. During the month of January there were 6 RIDE program in South Huron.					
Public Education Campaigns:	 13 Media releases were issued this past month pertaining to county-wide information and/or public education campaigns. We continue to encourage people to always secure their property and to not leave valuables in their vehicles. Theft of Motor Vehicles and contents of the vehicles is still an on-going concern throughout the County including South Huron. Secure their property, encourage the use of cameras and alarm systems to safeguard their valuables and buildings. 					
Crime Stoppers:	26 Total new OPP tips (Huron County only)					
Continuous Learning:	Block Training resumed in September. Other Virtual courses are also coming online. TTCI – General Investigative Training and the Coach Officer Course to name a few.					

Community Engagement	
----------------------	--

School/Youth Officer	There were no incidents in January at South Huron Schools due to the
Hours / Calls for	lockdown.
Service:	
	The school resource officer continues to be engaged with the South Huron schools staff. We also have our Community Safety Officer Jamie Stanley
	engaged with these schools as well. They are maintaining regular contact with the school administrative staff and working through any issues that

South Huron January 2021

	might arise. Once the schools re-open we are ready to re-engage with our programs.
Community Mobilization Officer:	There were 13 mental health calls for service in South Huron in January. Up slightly from 10 in the same month in 2020.
Focused Patrol Initiatives:	There are two focused patrol currently in South Huron during the month of January. The Huron OPP are currently running focused patrols with the South Huron area schools. This is to support school safety. Officers are patrolling the schools on foot and by cruiser curbing poor behaviour and supporting school staff with the re-opening policies. Also road safety is one of our priorities as well. Reducing risk of injury by deterring poor driving behaviour. This has been suspended during the lockdown reduced to random property checks. There is also a Focused Patrol at the intersection of Dashwood Road and Airport Line. Poor driving habits reported due to construction at this intersection. Working in conjunction with Huron County Roads to ensure Public Safety and driver compliance. 12 hours were dedicated to this intersection in January.
	South Huron had no calls for service related to COVID19 in January.
Community Events:	None scheduled during this time period.

Noteworthy Occurrences

- 17 year old male ran a red light. Stopped also found to be a G1 driver without an accompanying G driver. Drove here from Listowel to visit his girlfriend. Charged accordingly. Mother came to pick up the car.
- 34 year old male found breaching numerous court orders. Charged with multiple breaches. Held for Bail
- 32 year old male charged with stealing liquor from the LCBO
- 27 year old male charged with assaulting a 33 year old male
- 21 year old male charged with harassing a 23 year old female
- 39 year old male arrested for Break and Enter and Mischief for entering a business in Exeter
- 56 year old male arrested for threatening his 55 year old brother with a knife.
- 36 year old male found driving under suspension 4 times in January. Charged accordingly for each event. Vehicle impounded for 7 days
- 65 year old male found driving under suspension. Charged accordgly
- 18 year old male charged with racing for driving 150 km/hr in an 90 km/hr zone

South Huron January 2021

- 34 year old female was charged under the Dog Owner Liability Act after her dog bit another person in Exeter. Health Unit contacted. Dog quarantined.
- 23 year old male caught driving without insurance

Looking Forward	
Trends:	 Violent Crimes have seen a decrease from 6 in January 2020 to 4 in January 2021. Break and enter occurrences increased from 1 in January 2020 to 5 in January 2021. Theft complaints (Over & Under) decreased from 11 in January 2020 to 4 in January 2021. Mental Health calls decreased from 13 in January 2020 to 10 in January 2021. Crisis Team member continues to be engaged with proactive and reactive responses within Huron County throughout the COVID19 Crisis trying to further reduce these numbers. There have been additional Crisis Team members hired to dedicate more hours to Huron County stakeholders.
Detachment Pressures:	 COVID 19 pressures. Corporate planning, preparation and ongoing changes to procedures and legislation. With the ever changing position on closures from the Province we are always fielding questions from the Public on allowable limits on social events. Planning is underway on how to deliver course material to students using a COVID19 approved method. Consultation with the school boards is on-going. Dealing with Mental Health calls and managing residents in crisis. Utilizing all available resources from CMHA, Social Services. MCRRT and Out of the Cold shelter and counselling services. This area is under a higher stress due to Covid and Provincial Lockdowns.

South Huron January 2021

Community Pressures:	 Get the message out to lock vehicles and not leave valuables in vehicle. Still having issues with thefts with a few simple preventative measures. COVID19 - Focus on education while ensuring the safety of the public. Complete Crime Abatement checks on criminals currently charged with offences, on conditions and at high risk for re-offending
	Enforce Provincial Lockdown restrictions.

Motor Vehicle Collisions in South Huron

January 2021

Property Damage	Personal Injury	Fatal
12	1	0

Notes:

Police Services Board Report for South Huron Records Management System January - 2021

Violent Crime							
Actual		Janua	ary	Year to Date - January			4
	2020	2021	% Change	2020	2021	% Change	4
Murder	0	0		0	0		3
Other Offences Causing Death	0	0		0	0		2 2 2 4 Ctral
Attempted Murder	0	0		0	0		
Sexual Assault	0	0		0	0		2
Assault	4	4	0.0%	4	4	0.0%	1
Abduction	0	0		0	0		0
Robbery	0	0		0	0		0
Other Crimes Against a Person	2	0	-100.0%	2	0	-100.0%	Assault Other Crimes 2020 2021
Total	6	4	-33.3%	6	4	-33.3%	
Property Crime							
Actual	January			Year to Date - January			10
	2020	2021	% Change	2020	2021	% Change	
Arson	0	0		0	0		A Ctual 4
Break & Enter	1	5	400.0%	1	5	400.0%	2
Theft Over	2	1	-50.0%	2	1	-50.0%	
Theft Under	9	3	-66.7%	9	3	-66.7%	ren we we we with
Have Stolen Goods	1	0	-100.0%	1	0	-100.0%	Break B FITER THER THER THE HAVE STOLET Frand hischief
Fraud	3	4	33.3%	3	4	33.3%	Heat Have
Mischief	4	1	-75.0%	4	1	-75.0%	2020 = 2021
Total	20	14	-30.0%	20	14	-30.0%	
Drug Crime							
Actual		Janua	ary	Ye	ar to D Janua		5
	2020	2021	% Change	2020	2021	% Change	4 3 2 4 4 3 2 4 4 3 4 4 4 4 4 4 4 4 4 4 4 4 4
Possession	0	0		0	0		
Trafficking	0	0		0	0		
Importation and Production	0	0		0	0		0

 Detachment: 6G - HURON

 Location code(s): 6G00 - HURON

 Area code(s): 6119 - Municipality of South Huron

 Data source date:
 Report Generated by:

 2021/02/06
 Nesbitt, Russell

Police Services Board Report for South Huron Records Management System January - 2021

Clearance Rate										
Clearance Rate		January	/	Year to Date - January			80%		4	
	2020	2021	Difference	2020	2021	Difference	70% 60% 50%			
Violent Crime	50.0%	75.0%	25.0%	50.0%	75.0%	25.0%	40%			
Property Crime	20.0%	7.1%	-12.9%	20.0%	7.1%	-12.9%	20% 10%			
Drug Crime							0% -	Violent Crim	Property Cri	Total (Viole
Total (Violent, Property & Drug)	32.1%	22.2%	-9.9%	32.1%	22.2%	-9.9%		G IIII	= 2020 = 2021	(1018

Unfounded

Unfounded		Janua	iry	Ye	ear to [Janua		Total (Violent, Property			
	2020	2021	% Change	2020	2021	% Change	& Drug)	2		4
Total (Violent, Property & Drug)	4	4	0.0%	4	4	0.0%		=2020 =	2021	

Criminal Record and Vulnerable Sector Screening Checks

Actual		Janua	ary	Year to Date - January				Criminal Record					
	2020	2021	% Change	2020	2021	% Change		Vulnerable Secto					
Criminal Record Checks	19	0	-100.0%	19	0	-100.0%			0	20	40	60	80
Vulnerable Sector Screening Checks	65	0	-100.0%	65	0	-100.0%		= 2020 = 2021					

Data contained within this report is dynamic in nature and numbers will change over time as the Ontario Provincial Police continue to investigate and solve crime.

Data Utilized

- Major Crimes

- Niche RMS All Offence Level Business Intelligence Cube



Municipality of South Huron January - 2021

				January	- 2021						
Billing Categor	ies			2021		2020					
(Billing categories traditional crime g	below do not match roupings)	January	Year to Date	Time Standard	Year To Date Weighted Hours	January	Year to Date	Time Standard	Year To Date Weighted Hours		
Violent Criminal	Sexual Assault	1	1	16.0	16.0	0	0		0.0		
Code	Assault With Weapon or Causing Bodily Harm- Level 2	3	3	16.0	48.0	2	2	16.0	32.0		
	Assault-Level 1	1	1	16.0	16.0	2	2	16.0	32.0		
	Criminal Harassment	1	1	16.0	16.0	1	1	16.0	16.0		
	Utter Threats to Person	0	0		0.0	1	1	16.0	16.0		
	Total	6	6	16.0	96.0	6	6	16.0	96.0		
Property Crime	Break & Enter	4	4	6.5	26.0	2	2	6.5	13.0		
Violations	Theft FROM Motor Vehicle Over \$5,000	1	1	6.5	6.5	0	0		0.0		
	Theft of Motor Vehicle	1	1	6.5	6.5	0	0		0.0		
	Theft of - Farm Vehicles	0	0		0.0	1	1	6.5	6.5		
	Theft of - Construction Vehicles	0	0		0.0	1	1	6.5	6.5		
	Theft under - Other Theft	3	3	6.5	19.5	5	5	6.5	32.5		
	Theft Under - Gasoline Drive-off	0	0		0.0	3	3	6.5	19.5		
	Theft FROM Motor Vehicle Under \$5,000	0	0		0.0	5	5	6.5	32.5		
	Theft Under \$5,000 [SHOPLIFTING]	0	0		0.0	1	1	6.5	6.5		
	Possession of Stolen Goods over \$5,000	0	0		0.0	1	1	6.5	6.5		
	Fraud -Master code	0	0		0.0	1	1	6.5	6.5		
	Fraud -Money/property/ security > \$5,000	1	1	6.5	6.5	0	0		0.0		
	Fraud -Money/property/ security <= \$5,000	2	2	6.5	13.0	1	1	6.5	6.5		
	Fraud - Other	0	0		0.0	1	1	6.5	6.5		
	Mischief - master code	1	1	6.5	6.5	4	4	6.5	26.0		
	Total	13	13	6.5	84.5	26	26	6.5	169.0		
Other Criminal Code Violations	Bail Violations - Fail To Comply	2	2	7.8	15.6	3	3	7.8	23.4		
(Excluding traffic)	Child Pornography - Possess child pornography	0	0		0.0	1	1	7.8	7.8		
	Obstruct Public Peace Officer	0	0		0.0	1	1	7.8	7.8		
	Libel - Defamatory	1	1	7.8	7.8	0	0		0.0		
	False Fire Alarm (C.C. Charge)	0	0		0.0	1	1	7.8	7.8		
	Total	3	3	7.8	23.4	6	6	7.8	46.8		
Drug Possession	DRUG Operation - Master Code	0	0		0.0	1	1	6.5	6.5		



Municipality of South Huron January - 2021

				January	- 2021						
Billing Categori				2021		2020					
(Billing categories traditional crime g	below do not match roupings)	January	Year to Date	Time Standard	Year To Date Weighted Hours	January	, Year to Date	Time Standard	Year To Date Weighted Hours		
Drug Possession	Total	0	0		0.0	1	1	6.5	6.5		
Statutes & Acts	Landlord/Tenant	5	5	3.4	17.0	0	0		0.0		
	Mental Health Act	3	3	3.4	10.2	1	1	3.4	3.4		
	Mental Health Act - Attempt Suicide	0	0		0.0	1	1	3.4	3.4		
	Mental Health Act û Threat of Suicide	2	2	3.4	6.8	3	3	3.4	10.2		
	Mental Health Act - Voluntary Transport	3	3	3.4	10.2	3	3	3.4	10.2		
	Mental Health Act - Placed on Form	0	0		0.0	1	1	3.4	3.4		
	Trespass To Property Act	1	1	3.4	3.4	1	1	3.4	3.4		
	Total	14	14	3.4	47.6	10	10	3.4	34.0		
Operational	Animal Stray	0	0		0.0	1	1	3.6	3.6		
	Animal Injured	0	0		0.0	1	1	3.6	3.6		
	Domestic Disturbance	3	3	3.6	10.8	3	3	3.6	10.8		
	Suspicious Person	7	7	3.6	25.2	11	11	3.6	39.6		
	Phone -Master code	0	0		0.0	1	1	3.6	3.6		
	Fire - Building	1	1	3.6	3.6	0	0		0.0		
	Missing Person -Master code	0	0		0.0	1	1	3.6	3.6		
	Missing Person 12 & older	0	0		0.0	1	1	3.6	3.6		
	Missing Person Located 12 & older	0	0		0.0	1	1	3.6	3.6		
	Noise Complaint -Master code	0	0		0.0	2	2	3.6	7.2		
	Accident - non-MVC - Master code	1	1	3.6	3.6	0	0		0.0		
	Found Property -Master code	2	2	3.6	7.2	5	5	3.6	18.0		
	Found-Others	0	0		0.0	1	1	3.6	3.6		
	Lost Property -Master code	0	0		0.0	1	1	3.6	3.6		
	Lost License Plate	1	1	3.6	3.6	0	0		0.0		
	Sudden Death - Natural Causes	2	2	3.6	7.2	2	2	3.6	7.2		
	Sudden Death - Others	0	0		0.0	2	2	3.6	7.2		
	Suspicious Vehicle	3	3	3.6	10.8	6	6	3.6	21.6		
	Vehicle Recovered - Automobile	0	0		0.0	1	1	3.6	3.6		
	Unwanted Persons	1	1	3.6	3.6	2	2	3.6	7.2		
	Neighbour Dispute	3	3	3.6	10.8	4	4	3.6	14.4		
	Bomb Threat	1	1	3.6	3.6	0	0		0.0		



Municipality of South Huron January - 2021

				January	2021						
Billing Catego	ories			2021		2020					
(Billing categories below do not match traditional crime groupings)		January	Year to Date	Time Standard	Year To Date Weighted Hours	Já	anuary	Year to Date	Time Standard	Year To Date Weighted Hours	
Operational	Other Municipal By- Laws	0	0		0.0		1	1	3.6	3.6	
	Assist Fire Department	0	0		0.0		1	1	3.6	3.6	
	Assist Public	10	10	3.6	36.0		11	11	3.6	39.6	
	Family Dispute	3	3	3.6	10.8		2	2	3.6	7.2	
	Total	38	38	3.6	136.8		61	61	3.6	219.6	
Operational2	False Alarm -Others	1	1	1.3	1.3		6	6	1.3	7.8	
	Keep the Peace	2	2	1.3	2.6		1	1	1.3	1.3	
	911 call / 911 hang up	4	4	1.3	5.2		4	4	1.3	5.2	
	911 call - Dropped Cell	1	1	1.3	1.3		4	4	1.3	5.2	
	Total	8	8	1.3	10.4		15	15	1.3	19.5	
Traffic	MVC (MOTOR VEHICLE COLLISION) -Master code	0	0		0.0		1	1	3.4	3.4	
	MVC - Personal Injury (MOTOR VEHICLE COLLISION)	1	1	3.4	3.4		2	2	3.4	6.8	
	MVC - Prop. Dam. Non Reportable	1	1	3.4	3.4		4	4	3.4	13.6	
	MVC - Prop. Dam. Reportable (MOTOR VEHICLE COLLISION)	5	5	3.4	17.0		5	5	3.4	17.0	
	MVC - Prop. Dam. Failed to Remain (MOTOR VEHICLE COLLISION)	1	1	3.4	3.4		1	1	3.4	3.4	
	Total	8	8	3.4	27.2		13	13	3.4	44.2	
Total		90	90		425.9		138	138		635.6	

Note to Detachment Commanders:

- The content of each report is to be shared by the Detachment Commander <u>only</u> with the municipality for which it was generated. The municipality may treat this as a public document and distribute it as they wish.
- All data is sourced from the Niche RMS application. Included are 'reported' occurrences (actuals and unfounded occurrences) for 'billable' occurrences ONLY. Data is refreshed on a weekly basis.
- The Traffic category includes motor vehicle collision (MVC) occurrences entered into Niche (UCR code 8521). MVCs are NOT sourced from the eCRS application for this report.
- Only the primary violation is counted within an occurrence.
- Time standards displayed are for the 2017 billing period.

Note to Municipalities:

- Data contained within this report is dynamic in nature and numbers will change over time as the Ontario Provincial Police continues to investigate and solve crime.
- This report is NOT to be used for crime trend analysis as not all occurrences are included.
- Data groupings within this report do not match traditional crime groupings seen in other public reports such as the OPP Police Services Board reports or Statistics Canada reporting.